
08/16/02 05/04/07 FES-KIT, gantry festoon kit, installation, 0507.doc 

 1 of 2 

 
INSTRUCTIONS FOR : 

INSTALLATION OF AN ELECTRIC HOIST POWER FESTOON OPTION (FES-KIT) 
VESTIL MFG. CO. / T&S EQPT. CO. 

 
PRODUCTS USED ON: 
all AHS, FHS, FHA, and AHA models 
 

 
READ ALL INSTRUCTIONS BEFORE PROCEEDING! 

Only trained and qualified service personnel should work on this equipment! 
Lock out all potential energy sources before attempting this installation! 

 
Inspect the kit for completeness, accuracy, and damage.  The following parts are included in the festoon kit: 
One coiled power cord; six metal rings; seven plastic cable ties; one length of 1/8” wire rope measuring one foot 
longer than the beam length; two quick-grip wire rope clamps; two wire rope support brackets; two 3/8” eye bolts; 
two 3/8”-16 nuts; two 3/8” flat washers; four ½”-13 nylock nuts; four ½”-13 x 2” bolts; eight ½” flat washers, and; four 
½” spur clamps. 
1. Thread one end of the wire rope through one of the wire rope clamp per its instructions, then through one of the 

3/8” eye bolts, then back through the clamp.  The end of the clamp should be about 2” away from the eye bolt 
when secured. 

2. Slide the six metal rings onto the wire rope.  Install the other eye bolt on the remaining end of the wire rope in 
the same manner as the first. 

3. Thread a 3/8” nut onto each eye bolt and, after determining what will be the left and right side brackets, attach 
the eye bolts through the support brackets’ 9/16” holes.  Place a 3/8” washer on the eye bolts, then secure with a 
3/8” nylock nut. 

4. Install a ½” washer, then a spur clamp, to each of the four ½” bolts.  The flat side of the clamp should be 
against the washer.  Hold the left side bracket on the top of the appropriate end of the gantry’s horizontal beam 
and insert a ½” bolt with clamp through the bracket’s slots.  The teeth on the clamp are to rest against the I-
beam’s flange.  On the top side of the bracket, secure the bolts with another ½” washer and a nylock nut.  
Repeat on the right side. 

5. Tighten the wire rope support brackets’ bolts, keeping the brackets perpendicular to the horizontal beam. 
6. Pull the slack out of the wire rope by feeding more cable through the quick-grip clamps. 
7. Final adjustment of the wire rope tension can be made by adjusting the eyebolts’ nuts.  The wire rope should 

be taut enough that there is no noticeable sag in the line. 
8. Determine which side of the gantry crane you want the power cord’s male plug to be on.  Hold the coiled cord 

underneath the rings and strap the last coil at each end of the cord to the first and last rings on the wire rope 
using cable ties.  Then attach the cord to the remaining rings at equal intervals along its length in the same 
manner.  Strap the longer straight portion of the cord to the adjacent end’s eye bolt or support bracket.  When 
the ties are tight, cut off their excess length. 

9. Plug the hoist’s power plug into the coil cord’s female end, and the coil cord’s male plug into a 115V NEMA 5-
15 receptacle or extension cord connector. 

 
 
 

Cautions:  

• Gantry cranes are portable by nature, and therefore can move unexpectedly during the installation of the 
festoon system unless measures are taken to prevent wheel movement. 

 
Notes: 

• Because it is installed on only one side of the gantry crane, and because the coiled power supply cord has 
a male and a female end, consideration should be given before assembly as to what will become the left 
and right ends of the crane. 

 



                                                                                                                                                         

  
 

Copyright 2016 Vestil Manufacturing Corp.                                                               Page 2 of 2 

LIMITED WARRANTY  
 

Vestil Manufacturing Corporation (“Vestil”) warrants this product to be free of defects in material and workmanship 
during the warranty period.  Our warranty obligation is to provide a replacement for a defective original part if the part is 
covered by the warranty, after we receive a proper request from the warrantee (you) for warranty service. 
 

Who may request service? 
Only a warrantee may request service.  You are a warrantee if you purchased the product from Vestil or from an 
authorized distributor AND Vestil has been fully paid. 
 

What is an “original part”? 
An original part is a part used to make the product as shipped to the warrantee. 
 

What is a “proper request”? 
A request for warranty service is proper if Vestil receives: 1) a photocopy of the Customer Invoice that displays the 
shipping date; AND 2) a written request for warranty service including your name and phone number.  Send requests 
by any of the following methods: 
 

      Mail                        Fax    Email 
       Vestil Manufacturing Corporation             (260) 665-1339      sales@vestil.com 
       2999 North Wayne Street, PO Box 507                   Phone 
       Angola, IN 46703               (260) 665-7586 
 

In the written request, list the parts believed to be defective and include the address where replacements should be 
delivered. 
 

What is covered under the warranty? 
After Vestil receives your request for warranty service, an authorized representative will contact you to determine 
whether your claim is covered by the warranty.  Before providing warranty service, Vestil may require you to send the 
entire product, or just the defective part or parts, to its facility in Angola, IN.  The warranty covers defects in the 
following original dynamic components: motors, hydraulic pumps, electronic controllers, switches and cylinders.  It also 
covers defects in original parts that wear under normal usage conditions (“wearing parts”): bearings, hoses, wheels, 
seals, brushes, batteries, and the battery charger. 
 

How long is the warranty period? 
The warranty period for original components is 1 year.  The warranty period begins on the date when Vestil ships the 
product to the warrantee.  If the product was purchased from an authorized distributor, the period begins when the 
distributor ships the product.  Vestil may extend the warranty period for products shipped from authorized distributors 
by up to 30 days to account for shipping time.  
 

If a defective part is covered by the warranty, what will Vestil do to correct the problem? 
Vestil will provide an appropriate replacement for any covered part.  An authorized representative of Vestil will contact 
you to discuss your claim. 
 

What is not covered by the warranty? 
1. Labor; 
2. Freight;  
3. Occurrence of any of the following, which automatically voids the warranty: 

 Product misuse; 
 Negligent operation or repair; 
 Corrosion or use in corrosive environments; 
 Inadequate or improper maintenance; 
 Damage sustained during shipping; 
 Collisions or other incidental contacts causing damage to the product; 
 Unauthorized modifications:  DO NOT modify the product IN ANY WAY without first receiving written 

authorization from Vestil.  Modification(s) might make the product unsafe to use or might cause excessive 
and/or abnormal wear. 

 

Do any other warranties apply to the product? 
Vestil Manufacturing Corp. makes no other express warranties.  All implied warranties are disclaimed to the extent 
allowed by law. Any implied warranty not disclaimed is limited in scope to the terms of this Limited Warranty. 

 

 


